BOM Table(Restructured)
ITEM NO. PART NUMBER DESCRIPTION QY.
1 7125-SA-S02 24X24-S1 STRUCT AL FRAME/FOUNDATION 1
2 7125-SA-FO2 24 x 24 ROOF ASSY 1
3 5/8-11x2-1/4 LONG HEX BOLT AISI 316 SS 12
4 5/8" FLAT WASHER A316 SS 52
5 5/8" SPRING LOCK WASHER A316 SS 52
6 5/8" HEX NUT A316 SS 52
7 5/8-11x1-3/4" LONG HEX BOLT AISI 316 SS 40

NAME DATE CUSTOMER
S FISHERIES AND OCEANS CANADA
DRAWN WW 11/17/2016 '\ DESCRIPTION
’\ METALBOSS TECHNOLOGIES 04 x 24 ASSY

CHECKED WORK ORDER CLIENT REF.
MEG APPR 12948-170 Street NW P: (780) 453-3886 13326 -

: Edmonton, Alberta F: (780) 455-7080 NEXT ASSY FINAL ASSY
WEGHT 3457 0] Canada T5V 0B4 www.metalboss.com
MATERIAL - SEE PART DWG THE INFORMATION coﬁsﬁzg‘[)g@mw@DDRCA%LISENST%E SOLE PROPERTY OF uNms - inch an PARTNO. REV
s SEE SUBLASSY DWG M iouT ?§§H§§|LTC%E'NESPE‘E§T}RSEE{NY Régsgélu%%s'NTEEQFEEL%%@ Nerls z:TALE ] gﬁ(l 1 7125-M02



CV«

284.500 _ . —
GRIDLINE 1 i 117 T
DH
142.250% dth
GRIDLINE 2
DB DB
0 il : A SR — A = R— o
GRIDLINE 3
< o $ O
z 2z 8%
o i = - 3
& <2 0
[ — X N
O O O
TOP VIEW
DRAWN WW
CHECKED
MFG APPR.

WEIGHT  3657.01

MATERIAL - SEE PART DWG
FINISH SEE SUB-ASSY DWG

< O
L O wi
Z S
o O e
o o 0
(a4 AN z
@) @)
| ]
[ |
|
|

'\‘ METALBOSS

12948-170 Street NW
Edmonton, Alberta
Canada T5V 0B4

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF
METALBOSS TECHNOLOGIES INC. ANY REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF METALBOSS TECHNOLOGIES INC. IS

STRICTLY PROHIBITED.

P: (780) 453-3886
F: (780) 455-7080
www.metalboss.com

FRONT VIEW

CUSTOMER

FISHERIES AND OCEANS CANADA

DESCRIPTION
24 x 24 ASSY

WORK ORDER CLIENT REF.

13326 -
NEXT ASSY FINAL ASSY
UNITS inch QrY PART NO. REV
SCALE 1:75 ‘I 7" 25'M02
SHT 20F4



4.000

DETAIL DL
SCALE1:12

Re

SECTION CV-CV

DETAIL DK
SCALE1:12

NAME DATE

DRAWN WW 11/17/2016
CHECKED

MFG APPR.

WEIGHT  3457.01
MATERIAL - SEE PART DWG
FINISH SEE SUB-ASSY DWG

'\‘ METALBOSS

12948-170 Street NW
Edmonton, Alberta
Canada T5V 0B4

P: (780) 453-3886
F: (780) 455-7080
www.metalboss.com

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF
METALBOSS TECHNOLOGIES INC. ANY REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF METALBOSS TECHNOLOGIES INC. IS
STRICTLY PROHIBITED.

DETAIL DJ
SCALE1:12

CUSTOMER
FISHERIES AND OCEANS CANADA
DESCRIPTION
24 x 24 ASSY

WORK ORDER CLIENT REF.

13326 -
NEXT ASSY FINAL ASSY
UNITS inch QrY PART NO. REV
SCALE 1:40
1 7125--M02



BB

DT —DU
/di>\
SECTION DH-DH
SCALE 1:35 | |
/A dp dp 4
dp-alp 4
T /ﬂ 7 T 1
T A VA
DETAIL DU
SCALE1:8
DETAIL DT
SCALE1:8 - . CUSTOMER
FISHERIES AND OCEANS CANADA
DRAWN WW 11/17/2016 '\ DESCRIPTION
‘ METALBOSS 24 x 24 ASSY
CHECKED WORK ORDER CLIENT REF.
- 12948-170 Street NW P: (780) 453-3886 13326 -
- Edmonton, Alberta F: (780) 455-7080 NEXT ASSY FINAL ASSY
WEGHT 3457 O] Canada T5V 0B4 www.metalboss.com
MATERIAL - SEE BOM THE INFORMATION COﬁESEE‘DET\ANRYTH\ASNDDRCA%L‘(E)EINST‘TAF\IE SOLE PROPERTY OF unitsinch an 1 PARTNO. eV
st SEE SUBLASSY DWG M THouT ?EEW?F?‘E'NESPE‘ES@;EE{NY Rggj&’%%gis‘NTEEQZBL%%S Ne s E:TALE \ !3:?4 7125-M02



R

—5W

[+ o

NAME

DRAWN WW
CHECKED

MFG APPR.

WEIGHT  1906.32

MATERIAL - SEE PART DWG

DATE

11/16/2016

FINISH POWDER COAT, WHITE SHEEN GLOSS

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 7125-SA-21 ROOF END ASSY 2
2 5/8-11x2-1/4 LONG HEX BOLT AlSI 316 SS 16
3 5/8" FLAT WASHER A316 SS 16
4 5/8" SPRING LOCK WASHER A316 SS 16
5 5/8" HEX NUT A316 SS 16

12948-170 Street NW
Edmonton, Alberta
Canada T5V 0B4

’\’ METALBOSS TECHNOLOGIE:

P: (780) 453-3886
F: (780) 455-7080
www.metalboss.com

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF
METALBOSS TECHNOLOGIES INC. ANY REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF METALBOSS TECHNOLOGIES INC. IS

STRICTLY PROHIBITED.

SECTIONT-T
SCALE1:12

(0
©
SECTION P-P

SCALE1:12

SECTION M-M
SCALE1:12

FISHERIES AND OCEANS CANADA

24 x 24 ROOF ASSY

CLIENT REF.
13326 -
FINAL ASSY
inch Qry PART NO. REV
s SEEBOM 100 o koo B

10F1




NAME
DRAWN WW
CHECKED

MFG APPR.

WEGHT  1740.68
MATERIAL  SEE PART DWG
FINISH NA

DATE

11/18/2016

BILL OF MATERIALS
ITEM NO.|PART NUMBER DESCRIPTION QTY.
1 5/8" FLAT WASHER A316 SS 193
2 5/8" HEX NUT A316 SS 193
3 5/8" SPRING LOCK WASHER A316SS 193
4 5/8-11x1-3/4" LONG HEX BOLT AlSI 316 SS 144
5 5/8-11x2-1/4 LONG HEX BOLT AlSI 316 SS 41
6 5/8-11x2-3/4 LONG HEX BOLT AlSI 316 SS 8
7 7125-0015 SPACER 4
8 7125-SA-04 COLUMN BASE MK CB-1 4
9 7125-SA-03 COLUMN BASE MK CB-2 4
10 |7125-SA-05 COLUMN BASE MK CB-3 1
11 7125-SA-26 FLOOR SUPPORT CHANNEL ASSY-F5 2
12 |7125-0072 FLOOR SUPPORT CHANNEL-F12 2
13 |7125-0026 FLOOR SUPPORT CHANNEL-F10 4
14 7125-0023 FLOOR SUPPORT CHANNEL-F7 4
15 7125-SA-35 FLOOR SUPPORT CHANNEL ASSY-F11 2
16 7125-0014 WALL SUPPORT CHANNEL-F4 2
17 7125-0091 FLOOR SUPPORT CHANNEL-F13 2
18 7125-0008 WALL SUPPORT CHANNEL-F1 4
19 7125-0009 WALL SUPPORT CHANNEL-F2 2
20 |7125-0022 FLOOR SUPPORT CHANNEL-F6 4
21 7125-0025 FLOOR SUPPORT CHANNEL-F9 4
CUSTOMER
'\_ FISHERIES AND OCEANS CANADA
DESCRIPTION
’\ METALBOSS TECHNOLOGIES 24X24-S1 STRUCT AL FRAME/FOUNDATION
WORK ORDER CLIENT REF.
12948-170 Street NW P: (780) 453-3886 13326 -
Edmonton, Alberta F: (780) 455-7080
Canada T5V 0B4 www.metalboss.com | NETASY FINALASSY
THE INFORMATION COPTTRSSE‘DET\ANRYTH\AQDDRCA%IZI(?EI';U%:E SOLE PROPERTY OF UNITS inCh arl PARTNO. REV
s e e o v sene 0 SEE BOMg195.9A-S02 B
STRICTLY PROHIBITED. SHT 1 OF 7




300.500

248.500

196.500

150.500

150.000

104.000

52.000

[ o oo ]
L_-i' BNt wop .|
a4 ]
9 4
b 1
¥
b . d
b . 4
- - o
4
. |
i CH— :
I!Jt_-! - nu - !.—.1.
- B -
N..oO O o] I'__rﬂ
b .| 81 +
a —CJ i
b 1
BN
i Joun
M1
b . d
b A —CV
- - o
1
l 8
. e
i CG— :
=% 1 .
:"h oA Mol .,FH
[ S < [P K1)
CF
TOP VIEW
o '®) ®)
¥ (@)
™~ L
o~ ®)
<t '®)
— ™
END VIEW
NAME DATE CUSTOMER
H ' FISHERIES AND OCEANS CANADA
DRAWN WW 11/18/2016 '\ DESCRIPTION
‘ METALBOSS 24X24-S1 STRUCT AL FRAME/FOUNDATION
CHECKED WORK ORDER CLIENT REF.
WFG APPR 12948-170 Street NW P: (780) 453-3886 13326 -
' Edmonton, Alberta F: (780) 455-7080 NEXT ASSY HINAL ASSY
WEGHT 174048 Canada T5V 0B4 www.metalboss.com
PROPRIETARY AND CONFIDENTIAL UNITS  inch Qry PART NO. REV

MATERIAL - SEE PART DWG
FINISH NA

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF
METALBOSS TECHNOLOGIES INC. ANY REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF METALBOSS TECHNOLOGIES INC. IS
STRICTLY PROHIBITED.

SEE BOM7125.5A-502

SCALE 1:55
SHT 20F7



~——2.000

— 2.000
DB DB
O
* ; ] V *
@c?@ i i \
j\ AN , *
250 TYP ——— = DA
DETAIL CF
SCALE1:8

NAME DATE
DRAWN WW 11/18/2016
CHECKED
MFG APPR.
WEGHT  1740.68
MATERAL - SEE PART DWG
FINISH NA

OI0,

%
o ) —(®
n
“0
a
FOo I ]
XO
| 4 ) Vel N

SECTION DA-DA
SCALE1:8

Nl |

- j@@@

SECTION DB-DB
SCALE1:8

'\‘ METALBOSS

12948-170 Street NW
Edmonton, Alberta
Canada T5V 0B4

P: (780) 453-3886
F: (780) 455-7080
www.metalboss.com

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF
METALBOSS TECHNOLOGIES INC. ANY REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF METALBOSS TECHNOLOGIES INC. IS
STRICTLY PROHIBITED.

CUSTOMER
FISHERIES AND OCEANS CANADA

DESCRIPTION

24X24-S1 STRUCT AL FRAME/FOUNDATION
WORK ORDER CLIENT REF.

13326 -

NEXT ASSY FINAL ASSY
UNITS inch QrY PART NO. REV
SCALE 1175 SEE BOM7‘|25_SA_302

SHT 30F7



}

SECTION CP-CP
SCALE1:8

®

ave
DRAWN ww
CHECKED

MFG APPR.

WEIGH 1740.68

MATERIAL - SEE PART DWG
ANSH NA

DATE

11/18/2016

go 1 :k(i CN

5> o / %
c[:ﬁ )
1o
I !

___:_:_ _____
I
(|

FTAIL CH

ALET:8

2.000 —

4.000 *

¥ 4 q
e
Y
0 [ or‘:‘t C
> N
0 [
[ Z 1T ':< N T

'\‘ METALBOSS

12948-170 Street NW
Edmonton, Alberta
Canada T5V 0B4

P: (780) 453-3886
F: (780) 455-7080
www.metalboss.com

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF
METALBOSS TECHNOLOGIES INC. ANY REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF METALBOSS TECHNOLOGIES INC. IS
STRICTLY PROHIBITED.

SECTION CN-CN

SCALE1:8

CUSTOMER

FISHERIES AND OCEANS CANADA

DESCRIPTION
24X24-S1 STRUCT AL FRAME/FOUNDATION
WORK ORDER CLIENT REF.
13326 -
NEXT ASSY FINAL ASSY
UNITS inch QrY PART NO. REV
SCALE 1175 SEE BOM7‘|25_SA_302

SHT 40F7



DCm—

2000 —= =~——=— ~—"2.000

@)
<

rr————~Tr -  ~ "~~~ -

~——1.000
% 1 J
DETAIL CG ] ] N
@ SCALE1:8 2.000 — @ ’
5 @ DCa— 1 s y %
Y 4
. + * ._/‘@ I @mt
@J& 4.000 ( '
| © [ ©
@ ) N TT -:< T ! ]
T~ | ' SECTION CM-CM
SCALE1:8
SECTION DC-DC
SCALE1:8
CUSTOMER
NAME DATE FISHERIES AND OCEANS CANADA
DRAWN WW 11/18/2016 '\ DESCRIPTION
N\ meTaLBoss 24X24-S1 STRUCT AL FRAME/FOUNDATION
CHECKED WORK ORDER CLIENT REF.
- 12948-170 Street NW P: (780) 453-3886 13326 -
- Edmonton, Alberta F: (780) 455-7080 NEXT ASSY FINAL ASSY
WEGHT 174068 Canada T5V 0B4 www.metalboss.com
MATERIAL  SEE PART DWG e wromnon cobeties WA SN e veoerry o (UNMSinch G

METALBOSS TECHNOLOGIES INC. ANY REPRODUCTION IN PART OR AS A WHOLE SCALE 1:75 SEE BOM71 25-SA-302 B

WITHOUT THE WRITTEN PERMISSION OF METALBOSS TECHNOLOGIES INC. IS
FINISH NA STRICTLY PROHIBITED. SHT 50F7



DETAIL CJ
SCALE1:8

| i
7_"]
4.000*
| T

ave
DRAWN ww
CHECKED

MFG APPR.

WEIGH 1740.68

MATERIAL - SEE PART DWG
ANSH NA

@

SECTION CK-CK
SCALE1:8

DATE

11/18/2016

'\‘ METALBOSS

12948-170 Street NW
Edmonton, Alberta
Canada T5V 0B4

P: (780) 453-3886
F: (780) 455-7080
www.metalboss.com

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF
METALBOSS TECHNOLOGIES INC. ANY REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF METALBOSS TECHNOLOGIES INC. IS
STRICTLY PROHIBITED.

CUSTOMER
FISHERIES AND OCEANS CANADA

DESCRIPTION

24X24-S1 STRUCT AL FRAME/FOUNDATION
WORK ORDER CLIENT REF.

13326 -

NEXT ASSY FINAL ASSY
UNITS inch QrY PART NO. REV
SCALE 1175 SEE BOM7‘|25_SA_302
SHT 6 OF7



— = CW

| cY

-
N

~—

L CW
DETAIL CV
SCALE1:8

SECTION CW-CW

SCALE T :8
NAME
DRAWN WW
CHECKED
MEG APPR.

WEIGHT 740,68

MATERIAL - SEE PART DWG

FINISH NA

DATE

SECTION CY-CY
SCALE1:8

11/18/2016 '\‘ METALBOSS TECHN E

12948-170 Street NW
Edmonton, Alberta
Canada T5V 0B4

P: (780) 453-3886
F: (780) 455-7080
www.metalboss.com

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF

METALBOSS TECHNOLOGIES INC. ANY REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF METALBOSS TECHNOLOGIES INC. IS

STRICTLY PROHIBITED.

CUSTOMER

FISHERIES AND OCEANS CANADA

DESCRIPTION
24X24-S1 STRUCT AL FRAME/FOUNDATION

WORK ORDER CLIENT REF.

13326 -

NEXT ASSY FINAL ASSY

UNITS  inch Qry PART NO. REV

sCAle  1:55 SEE BOM7‘|25_SA-302 B

SHT 70F7



